B K ZiRERE
W74y 2019 4F 4 A S5#HE B ¥ %
L3 \ \: > : s I H
LR (Z2EX)IXDA
IRFZR AL . 04184
BEEERNERAESEHAERENERR . SESIR L,

prie k)

2. B/ NEEE SR 2B BB o e H A SRR SRR s, TR
Bt Fa i HA A R hn s . AREA IS L,

W AER A RTEFEANEE, o REOE o WEE E RTBMER, IAIRTH
B A BT, A7 RTFPE A REERE, r(A) RTVIERE A OTL.

— EATUEHES (A KB 6 N, B/NE2 73,3012 57)
EFNEFIHPOANFEMP R - ERFEEEERN, BHEEH AR E
ERERERE, HR SRBKRRETLS,

s
=
=

1 0 a
L5700 a 2/=0,0a=
0 -1 1

A -2 B. -1 C.1 D.2
2. 453 Biri e A BATRIER 1AL = -5 PR BEAE R AT 514" | =

A.-125 B. -5 C.5 D.25
3.MEMH a,=(1,2,3)", a,=(1,0,-1)", a,=(3,2,1)" IR

A3 B.2 C.1 D.0

2%, —x,+x,=1,
4. MDA —, +20, -2y = =2, TCfR A FE AL BRI
=X, =%, +%; =b
A b#-2 B.b#-1 C.b7#0

D.
04184# LMK (438 8 55 1 (L3 7))



5.2 N n BRI RRRE IR A B — AR R, AT ST A-2E TR
A2 B. -2 C.0 D.2"

6. " RI £ 0, 20, ,005) = 20, 2420, Ty 420, w0, 420,05 420050, S

A IERER B. A C.FIEEW D. P HER
JEIEFE S BB 5
EEE:

RO TEHE T ES BB R G L AREEEIEE L,

ZEEH(AKXEE 9 NG, BE 2 5,18 57)
1 a &

7455001 b b=

1 ¢ &
1 2 -3 8]
‘ 1 3 9 -7 o
8. Wil A= JATH A = )
0 0 2 1 -
0 0 3 5|
1 2 1 2 1 0

9.%A=[2 1 2|, B=|0 -1 1 |,WA+2B=
1 2 2 1 -1 =2

10. ¥ a MAEESZEL, M #m41(1,0,a) ", (1,a,0)",(2,1,2)" R 2,00 a=

X, +2,+3%;+bx, =0,

1 BT RS 2, 4oy 4y —x, =0, BUMRZS IR AERC 2,00 b=
—x,+2x,—x, =0

12. 47 A RIESHRE WA=

13. i a=(1,2,-1,3) 5 8=(0,1,2,-1) BN

-a 1 0
14. %A= 1 -a O |NIEEHEM, N o G HEZ :
0 0 -a

15. 457 KA f(w 00,005 )= 2, * =0, "y D=4, x, +20,x, BIFERE N AN IAL =

04184# L MEAE (488 8 55 2 T (L3 D)



S MEF (AT T NI, B/INEI9 7,363 5)

2x+y-z=1,
16. ORI W 2ty f 4 S x—2y+2=0, .
—x+y—2z=-1
a b 0 a b ¢

17.% A=|b ¢ O, B=|a b c|, 1B 75 14+B"1.

c a O a b ¢
(2 3 0 0]
i 1 2 0 0 .
18. MM A= CROSHRE A
0 0 1 1
0 0 1 2]

19. R4 (1,0,-1,1), (2,1,0,-1),(0,1,2,-3),(2,2,1,-3) BBk K — R Z1ETC
SagH.
20. % a,=(1,2,0,1), a,=(0,-1,1,0),,=(2,1,1,-1) ,a=(a+b,-2b,c+1,d) ,iNHE

a=2a,-3a,—a, , TTHELTHI5

a b
c
Xy +20, +4x,-3x, =2,
21. fR T PR 3%, +5x, +6x,—4x, =5 ,.
4x,+5x,—2x,4+3x, =5
22. I E R AR o, o, ERPREIESS MR, Hp
o, =(-1,0,1), a,=(1,-1,0) ,5=(1,1,-1).
P GERARR (AR 7 1)

xl +x2 Zal N
x2 +x3 Zaz N
23. UEIA 5 R R BRI a,—ay+a;—a, =0.
x3 +x4 =(L3 N
xl +x4 =(L4

04184# L MEAE (4838 8 55 3 T (43 W)





